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(9 marks)
Notes:
MI1: Realises the angle for 4 is required and attempts to find it
Al: Correct angle
MI1: Uses a correct area formula and squares » to achieve a 3TQ integrand in cos 26
M1: Use of the correct double angle identity on the integrand to achieve a suitable form for
integration
Al: Correct integration
M1: Correct use of limits
MI1: Identifies the need to subtract the area of a triangle and so finds the area of the triangle
M1: Complete method for the area of R
Al:  Correct final answer




